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Except answer-book, no extra sheet th be given. Write to the pomt and do not
strike the written answer. ,
o GRTH ST U To FIT-TF GT T frd
 Candidates must write their Roll Number on the question paper.
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Before answering the questions, ensure that you have been supphed the correct and
-complete question paper, no claim in this regqrd will be entertained after

examination.
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General Instructions :
(i) This question-paper consists of 39 questions in total, which are divided into
four Sections :'A', 'B', 'C', and 'D'".

(ii) Question Nos. 1 to 30 of Section - A are multiple choice questions. Each
question carries 1 mark. Answer the multiple choice qﬁesﬁons by selecting

correct option.

(iii) Question-Nos. 31 to 33 of Section - B are Very Short Answer Type Questions.

Each question carries 2 marks.
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(iv) Question Nos. 34 to 36 of Section - C are Short Answer Type Questions.

Each question carries 3 marks.

(v) Question Nos, 37 to 39 of Section - D are Long Answer Type Questions. Each

question carries 5 marks.
(vi) All questions are compulsory. %

(vii) Intemmal choice has been provided in two long answer type questions
(Queétion Nos. 37 & 39) of 5 marks. You have to attempt only one of the

given choice in such questions.:

qis -3

SECTION - A
(Multiple Choice duestians) 2 | B o,
(g )
VEo w s ¥ | ey | LTS 1
(A) Hex AT ‘ . (B) #HEX ..
© et e | R
S.L. unit[(-:nfacceleration is: 2 g
(A) Meter/Second " (B) Meter
(C) Meter/Second? (D) Second
2, TR ¥ I @} T F T U P FeRT FA a4 E 1
(4) @ B) e '
(C) FreIex | (D) werex
1905 | e , P.T.O.
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A device used to measure the distance in vehicles is known as :
(A) Sonometcr (B) Odometer
(C) Galvanometer (D) Speedometer
Poht M R 9 g Rt 3 v % an < 7 A 7 i
(&) MV | CLOE T e %MVQ
(C) MV? - (D) (MV)?

What is the momentum of an object of mass M moving with a velocity V ?
(&) MV ' B) 1mv2

i st 2
(©) MVv? b - (D) (MV)?

T T AT R o @ o Y ¥ o W T A ot §  wd ¥ o 0

%ww@ﬁa@wmﬁal”wwﬁzﬁr%wﬁm%? _ 1

(A) i T wE FEe
(B) i @1 fad e
(C) et &1 it
(D) ¥ q F§ &t

"An object remains in a state of rest or of uniform motion in a straight line

unless compelled to change that state by an applied force." Which law of

motion states this-fact ?
(A} First law of motion
(B) Second law of motion
(C) Third law of motion

(D) None of these

=
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A) 10N (B). 10 Kg
(C) 98Kg (D) 98 N

Mass of an object is 10 Kg. What is its weight on the earth ?

(A) 10N ‘ - (B) 10 Kg

(C) 98 Kg | s (D) 98 N

R SR g AT A aar g ? 3 o 1
(A) 9.8 WX o (B) 9.8 Wex/AHs ‘
(C) 9.8 Hex/AHre? (D) 9.8 U /TH'S

The value of 'g' over earth surface is - _

(A) 9.8 meter ; (B) 9.8 meter/second

(C) 9.8 meter/s‘.ecc’:ant:i2 . (D) 9.8 cm/second

Rt Rve o R g B, @ 9@ &0 99 Rvs o R T E I 1
(A) ot '

(B) LA g L ' il

(C) =TT

(D) o A

Work done on an object by a force would be ............ if the displacement of the

object is zero.

_ (A) Half

(B) Zero
(C) Four times

(D) Eight times
P.T.O.
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8. & FAF e ot 2 HA BRert B g B G e Feadl ol el
() SR (B) wn-2ed
(C) STEdH (D) @fs

9.

() &

The distance between two consecutive compressions or two consecutive

rarefactions is called the ............... .

(A) Frequency

(C) Time period

e & S.L TEF ©

~*

(C) HX/AFS

S.I. unit of frequency is :

{‘ﬁ:'j Hertz -

.(C) Meter/Second -

10, T% F ToH Bhae & 7

11/
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(A) 100°C
(C) 27°C

The melting point of ice is :

(A) 100°C

(C) 27°C

(B Wave length

(D)

(B)

(D)

®)

(D)

(B)
(D)

®)

(D)

300K G99 9T S @ A STaem H/r e ?

(B)

(D)

Sound

Hie

i

Meter

Second

0°C ' :

-100°C

0°C

-100°C
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What will be the physical state of water at 3OOK ?

~(A) Solid- (By Liquid
(C) Gas | (D) Plasma
12, frifcied & wramfs R B _ 1
(a) Dt e ) | (B) @I YT
(C) S qrE | (D) ST ad
Which of the following are chemical change.s ?
(A) Growth of a plant 3 BT (é) Cooking of food
(©) ‘Dig.estion of food (D) All of these
13 i & & wid Brarr S - -
@ ™ @) fw |
(C) WeTsw@ . (D) ST T
Which of the foilowing are homogeneous mixture ?
(A) Ice B - (B) Viﬁcgar
] Suan wer ¢ (D) Allof these |
14: OO B & .. ¥ AT S & 1
(A) & . - (B) HIeX
(C)L Anirex , (D) foirfex
) Atomic radius is measured in ....... . :
(A) cm | (B) o
(C) nanometer (D) Millimeter
1905 | it : P. /0.
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15, IREET TN T TR o S
(A) CaCOs ) (B) Ca(OH)2
(C) CaO (D) CaCla

16.

17

Chemical formulae of calcium carbonate is !

(A} CaCOs (B) Ca(OH)2
(C) CaO - it iR D) CaClz
HS o1 ¥ o B ooy ¥ 7

A 1 _' (B) 2

G) 3 e (D) 4

How many atoms are present in a HaS molecule ? -
@ (1 RRE (B) 2

© 3 o w0 D) 4

'cramqﬁm‘raw-_sﬁaﬁﬁaﬁé@r%':

(A 8 '_ a3 - (B) 16

18»

1905

© 17 3R T e

Number of valence electrons in CI” ion are :

W 8 (B) 16

© 17 g
........... HifrE a1 ford 63 g :

(A) A -  (B) HuIPRi
(©) wites | . (D) e
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Ceresesaeenens are known as the power houses of the cell.

(A) Llysosomes (B) Vacuoles

(C) Plastids - (D} Mitochondria .
19; . R & SiF FEW 1 AT H e ¥ ? 5 ' ot

(A) TRSETEA A , (B) e A

(C) TEEEw F ' (D) CERERA

Where ax;e proteins synthesized inside the.cell ? &

(A) In Mitochondria : 4 ' (B) In Chromoplast

(C)} InRibosomes. ' (D) All of these
20,,:»qﬁaﬁﬁﬁﬁﬁ-mmé‘m%?' ¥, 9 1

() @ S

(B) TACH

© I

(D) ®ST

Which tissue is pr;:Seﬁt in the brain ?
(A) Plasma '

(B) F:’hlocm

(C) Neuron

(D} Tendon

21 Toeg & @ Fpva wed ¢ FE A e 7 e e | ;
(A) FIX s - (B) #W '
(C) WRHASD 3 (D) I &R

1905 o P.T.Q:
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" Which of the following has four chambered heart ?

(A) Pigeon _ (B) Crow
€) Crocodiles = (D) All of these
22, A, TRAD, TG DGR .......o..... Tt B o B ;
(A) ot | (B) - R
(C) &g, (D) &UEd
Turtle, Crocodile, Wal_l.Lizard belongs to ............. class.
(A) Aves e (BL Amphibians
(C) Reptiless - -~ . (D) Mammals
23, TEWOMISAWE: = g T
(A) FHST | (B wRw ;
(C) (A) T (B) 3 | - (D) T A BE T
These mammals lay eggs : |
(A) Echidna o ' (B) Platypus -
(C) Both (A) and (B) WD) ot of tikss
24 g 7 B A A ¥ . _ 1
() Pt g (B) |
C) - E’ft-@m (D) ITRF qft
' Which disease are air-borne ? | o,
(A)" Pneumonia | (B) Tuberculosis
(C) Common-cold (D} Al of these
1905

Scanned with CamScanner



(11) | 1905

25('%!%11336??%%}:{%%%&13%%%? |
(A)  HaRE -
(B) &
(C) wd
(D) FLFR
Which of the following discase is caused by virus ? _'
(A) Malaria
(B) Cholera
(C) Anthfa'x j
26, e qU o AR SRR B EE: G T
® O, % Eholh
(B) Os
© O .
Dy (&) 7 (B) &
What are the forms of oxygen found in the atmosphere ?
(4) 0,
(B) O
(C) Os

(D) Both (A) and (B) |

1905 e 0‘.
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(A) TS

(B) ifeRiior .

(C) FrH-STRalrTe

(D) SWF Tqoft

Which of the following is a green house gas ?

(A) Nitrogen

- (B) Oxygen

(& Carbon-dioxide
(D) All of thése |

T A TR Al e e b

(A) TS X (B); ESLLER]
(© s . (D) e
The outer crust of 'eérth is called :

(A) Lithosphere = TH).. Fiyrdsnkicee
(C} Atmosphere . R _' (D) Biosphen;
Pt 3 & it o o A T R 7

(A) | B S

€) o Raw (D) rrert
Which of the following is Indian cow breed ?

(A} Sahiwal - (B) Jersey

(C) Brown Swiss (D) Léghorn
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30 T 1§ ¥ @umEr ¥ 1
(A) TEs (B) TSI A
(©) Her ' (D) Il Al
Which of these is \xrééds ?
(A) Xanthium (B) Parthenium
(C) Cyperinus Rotundus | (D) All of these
gUs -9
SECTION - B
(g, Sl 3w

(Very Short Answer Type Questions)

_8i. @Wé&ﬁ%mwm%@ﬂwww%maﬁ%gmﬁmﬁ
40%@@3#%%%%%?@1%%&1 . 2

* A train starting from a rallway station and moving with uniform acceleratmn

attains a speed 40 km/hour in 10 minutes. Find its acceleration.

32, yag A @ @ A & T e e - "
0 @m0 - a _
(i) B q FL i
Name the technique tc; separate :
(i) Butter from curd '

(iiy Camphor from salt

33. @ﬁwwmm@ﬁ%%mmn%wﬁm%%wma@%

List any two reasons why you would think that you are sick and ought to see

a doctor.

1905 ‘ P.T.O.
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SECTION - C
(g vl 5w)

(Short Answer Type Questtons)

@W108M/mﬁwﬁémﬁ%mamaﬁ%m%mﬁﬁ4mﬁ

wéﬁ%lmwamwaﬁ%wmﬁaﬁaaqawﬁmmmaﬁa
T =N 1000 Ritamy ¥ | S

A motor car is moving with a velocity of 108 km/hour and it takes 4 second to
stop after the brakes are applied. Calculaté the force exerted by the brakes on
the motor car if its mass along with the passengers is 1000 kg

ﬁqﬁqfaawwwaﬁwmw g -
() o W | 4

(i) SRS ATES e

Give the names of the elemeﬁt_s present iﬁ the following compounds :
(i) Quick lime

(i) Hydrogen brormdc

Why are lysosomes known as su1c1dc bags ?

. @98 -7
SECTION-D
(e I we)

(Long Answer Type Questions)

() Pt 7 A er o B % 7 ot g 1 o S B e R o

(i) =T g, Wnﬁmqﬁmﬁasoow%mw%aaﬁaqﬁhﬁmw%m

a0 g F R S kWh # 5 diferg 3
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(i)

(i1)

(1)

(1)
(1)

(i1)

(i)

(1)

(15) ' 1905

What is the kinetic energy of an object ? Write an expression for the

kinetic energy of an object.

Find the energy in kWh consumed in 10 hours by four devices of power
500 W each.

ST
OR

ot 7 ¥ 7 1 e af @ SR AP . &

40kgmﬁmwﬁ°€gﬁasmqﬁaﬂ1§ﬁmm%n§aﬁﬁaﬁﬁ
mﬁﬁﬁ%?qﬁmﬁgﬁwﬁﬁﬁﬁmmﬁaﬁﬁﬂgmqut

-%wwmnﬁawﬁaﬁﬁﬁm (g = 10 m/sec? , . 3

What is power ? Define 1 watt of power. . -

An object of mass 40 kg is raised to a he1ght of 5 M above the ground.
What is its potential energy ? If the Ob]CCt is allowed to fall, find its

kinetic energy when it is half—way down. (g =10m/ secQ]

W%mmmﬂ.:‘ LY ol e
@ wmEer = e
& . . BiLE
wmﬁmﬂzﬁxKaﬁthw%ﬁrwmﬁsﬁmaﬁa@rw
& 7 . . 1

Explain with examples :
(a) Atomic number

(b) Isotopes
If K and L shells of an atom are full then what would be the total number

of electrons in the atom ?

P.T.O.
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39. M WK H WM X F ot T ot wgee = 2% B
' Diagrammatically show the difference between the three types of Muscles
fibres,
Yy
'OR .
6 T S oy e Ry ‘ 3
) WIRMFIE? s S ._ 2

() Give three features of cardiac muscles.

(i) What are the functions of the stomata ?

1905
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